20221123 1

Batsystem MP900 - Mounting instructions

W Boatsystem Group AB, Traneredsvagen 112, 426 53 Vastra Frolunda, Sweden

Tel: +46 (0)31-69 03 80, www.boatsystemgroup.com, info@boatsystemgroup.com

You will need this:
Detta behdver du:

=
g
E
W ﬁ W -

O 17 13 10 v |T|
content/  wgwy oo —=> Ladder/
Innehall: 1 x4 x8 1 . Kassettstege:

@ M10x110 M10 M8

® ®
P10

X7 x4 X6
M10x40 M10x20 M8x30 M6x25 M10 M10 M6

ONONONONONOEDNE)

')

M6x45  4,2x25

) ==
‘Q ,G x8 x4
A ' - ' [ —») P1063 M6
 I—|
x2 X2 x2 x2 x2 x10 e
@70 M6, @25 @25 o34 M10 x1 x2 x1 X2

© OO B Y O * 7

Mounting/montering:




20221123
Alternative strut mounting with two fittings in the stem/
Alternativt stagmontage med tva beslag i staven:

Alternative mounting/ Alternativt montage.
C

e S

Seal with sikaflex at the attachments to the hull. / Tata med sikaflex vid infastningarna mot skrovet.




20221123 3

An opening for the anchor holder is sawn into the teak. / Oppning fér ankarhallaren sdgas upp i teaken.

A larger opening can be obtained if necessary when mounting over an existing anchor holder. /
Storre 6ppning kan fas vid behov vid montering 6ver befintlig ankarhallare.

t o+t




20221123 4

Batsystem MP900 - Accessories

W Boatsystem Group AB, Traneredsvagen 112, 426 53 Vastra Frolunda, Sweden

Tel: +46 (0)31-69 03 80, www.boatsystemgroup.com, info@boatsystemgroup.com

MP900: Installation over existing anchor holder. / Montage 6ver befintlig ankarhallare.

O
O
© —
O
o O
© O
o 5 (O]
O
O O ©
P1074 |0 P1091 oS o]
150x25mm (O |  290x30 mm ng, (O ]
alt. O
O
©J
P1010
50 mm
P1085
30° altc
alt.
alt. etc

PPK500




20221123

Batsystem BKT 72, BKT73 - Mounting instructions

w Boatsystem Group AB, Traneredsvagen 112, 426 53 Vastra Frélunda, Sweden

Tel: +46 (0)31-69 03 80, www.boatsystemgroup.com, info@boatsystemgroup.com

@6mm

Borra hal. g x2
~
=

!

300 285

600

880

VW T

270

The cassette ladder are mounted
under the point. / Kassettstegen
monteras under peket.

A 4

: o
L
R

——J= 1
Make sure that the frame sides are mounted parallel so that the

ladder does not get stuck when it is folded in. / Se till att ramsidorna - >
monteras parallellt sa att inte stegen fastnar nér den falls in. trycks hela vagenin.

) C
_ h//’:/_;“"? _ [ —| [e: N
-
—

B Fold out the steps by pressing downwards first so that the lock-
= ing is released. The ladder locks automatically when the ladder
is pushed all the way in. / Fall ut stegen genom att trycka nedat
forst sa att ldsningen slapper. Stegen laser automatiskt nar stegen




